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. Please choose the most appropriate answer.  (21%, each 3 %)

. What is the major glycosidic linkage in the structure of cellulose”
(AY al1=220 (B): af124), (C): B1=22). (D): (124}

-

_Which aof the following component does not present in the cell membrane?
(A3 nucleic acid, (B): protein, (C): lipid, (D): carbohydrate

3. To prepare a 10% (wiv) glucose solution, one should
(A} add 10g of glucose into 100 ml of pure water,
(B3 add 5g of glucose into 50 ml of pure water,
(C): add 100 ml of pure water into | 0g ol glucose,
(DY): dissolve 5 g of glucose in 35 ml of pure water, and bring the final velume to 30
ml with pure water

4. The cytoplasmic membrane is the (A): primary suppert structure of the cell.
{B): highly selective permeability barrier of the cell, (C): source of nutrient
Production, (D) structure which identifies a cell as evkaryotic or prokaryotic

L

. Beta oxidation of a mole of a 16 carbon fatty acid under physiologic conditions
Produces (A): one mole of acetic ecid, (B): cight moles of acetyl CoA, (C): eight
moles of acetic acid, (D); one mole of acetoacetic acid, (E): four mole of

aceloacetic acid

6. Translation is the cellular process of making (A): new DNA, (B): RNA from DNA,
(CY: proteins from amino acids by way of RMA, (D)mone of the above

7 In term of the number of atoms, which element is not considered as “macro
-molecules” in living organisms? (A): C, (B): H, (C}: O, (DY Zn, (E): §

Short answer (79%0)

. Define and give the description of (1) noncavalent bond; (2) hydrogen bond; (3)
peptide bond; (4) disulfide bond; (5) phosphodiester bond (10%)

2_Briefly define “genome" and “proteome” and describe the difference between them
[ 10%a)
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3. What are the three tvpes of RNA? Please write down their full name in English and
give briel description (9%)

4. What are reactive oxygen species (ROS)? Whal are effects of ROS on cell
metabolism? ( 10%%0)

5. Why do acrobic cells carry oul fermentation for the survival under anaerobic
condition? {10%:)

6. Please use collagen biosynthesis as an example to explain post-translational
modification. { 10%)

7. The side group of Lysine is (CHzJyMNH;. Pleasc draw a Fwilterion form of Lysine.
(10%)

8. Briefy define “pH". What is the definition of pH =57 (1 (%)
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